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1.2 Methods of Economic Analysis

Induction and deduction

The fundamental objective of economics, like any
science, is to develop theories which can help to explain
the events we observe. Economic theory provides the
basis for economic analysis and economic analysis makes
use of logical reasoning. There are two kinds of logical
reasoning. These are the deduction and induction
methods. Deduction is a logical reasoning to explain
specific events on the basis of the already established
theory. For example, the law of demand is a theory about
consumers behavior. It states that the amount of a good
consumers want to purchase usually varies with its price.
This can then be tested against how consumers actually
behave. If the facts do not support the theory it is rejected.

Induction is a logical way of reasoning to arrive at
a valid general statement, on the basis of valid specific
facts. For example, suppose we observe that employment
has the tendency to rise in the summer and fall in the

winter. Having observed this regular pattern, we might
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produce a theory to explain it which could then be tested
against the facts in the normal way.
Positive\analysis and normative analysis

Positive analysis deals with objective explanation
of h%\g,__tbe_economy_wo;ks. It concerns the analysis of
facts. A disagreement on the positive statement is solved
by referring to facts.

Normative analysis deals with how the economic
pw solved. It involves value judgfents. A
disagreement on the normative statement is solved by

-voting.
Hidden fallacies

The fallacy of composition arises when we

automatically assume that wha_t is true for a pa
true for the whole. False ca;xse f&-li&éy 1s the assumption
that if event A occurred before event B, event A caused
event B.
1.3 Scarcity and Choice

We live in the world of limitless human wants and

limited resources. The economic problem, therefore, is
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summed up in the two key words - scarcity and choice. It
must be noted that scarcity does not simply mean rare as
many people think. In other words, because resources are
limited does not mez;n they are necessarily scarce. To the
econofnist, scarcity means that society’s wants for goods
and service.:;ar f:_xgeed the av.ailable résbuf,c_:ps (land,-
labor, capital, and entrepreneurial ability).

Because there are insufficient resources to produce
all that is desired, society is forced to make c_l_l‘gi"gf. There
are three fundamental choices to be made.

a) What to produce

Thi_s_ means that as society cannot produce all it
wants, it must choose which goods and services to
produce from the available resources.

b) How to produce

This refers to the mw@ggion to be
adopted. Most goods can be produced in a variety of
methods. A basic distinction is between capital-intensive
production and labor-intensive production.

c¢) For whom to produce



This concerns the methods of distribution of goods

and services.
The three basic problems are common to all nations.
1.4 Decision Making units and Alternative Economic
Systems
Production, distribution, exchange, and
consumption of goods and services constitute the major

economic activities. The agencies through which the

e

economic activities are performed are called the units of
p— C -
the economic system. The basic decision making units of

—

the economic system are households and firms.] A

household may be defined as a single person, or a group
of persons who live under one roof and. make joint

economic decigio_n a decision making unit

responsible for the production and -sale of goods and

services. @\

There are various types of economic system
operating in the world but they can be categorized into
market economy, command economy, and mixed

economy.



a) Market economy

Under market economy, solutions to the three
fundamental choices are given by market forces.
Characteristics of market economy:
Private property

Individuals have the right to own, control, and
dispose of the means of production.
Freedom of enterprise ~

Individuals are free to buy or hire economic
resources to organize them for production and sell their
outputs in markets of their own choice.

Freédom of choice

Individuals are free to start their business; resource
owners are free to use their resources as they see fit; and
consumers are free to spend their incomes as they want.
Control of the economy by the price system

The interactions of demand and supply cause
changes in prices and it 1s these movements in market
prices that determine the ways in which society uses its

€Conomic resources.



Self-interest as the motivating force

The pursuit of personal interests is given free
expression. In other words, each decision making unit in
the economy tries to do what is best for himself/herself.
Perfect competition )

It is the regulating factor of self-interest The model
of a market economy assumes that there is a large number
of competing firms in each market and a large number of
individual buyers for each product. Every body tries to
maximize his/her gains or self-interest.

A very limited role for government |

The model of market economy is characterized by
an almost lack of government intervention.
b) Command economy

Under command economy, solutions to the what to
produce, how to produce, and for whom to produce
choices are given by the government. Characteristics:
Government ownership of resources —~

Most productive resources are owned by the

government on behalf of the society as a whole.
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Control over the price system

Prices are allowed to be determined freely by the
market, but if they cross the limit_then the government
regulates them. |

Control of monopoly business

The freedom of enterprise is controlled in the
-national interest for which restrictions are imposed on the
activities of monopoly firms.
Development planning

In mixed economies development plans are
introduced for the sake of rapid and balanced
development.

1.5 The Circular Flow of Activity

The essential features of the interrelations between
resource markets and product markets are captured in the
so-called Circular Flow Of Economic Activity. Fig? 1.1
describes "a s;mple model of a market economy. In the
upper ilalf of the diagram, firms express their demand for
resources and households who own economic resources
supply these resources. Erom the same market resources
go to firms. The payments wﬁich firms make in _obfaining‘
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1.6 Production Possibility Curve, Efficiency And
Opportunity Cost
Limited resources compel individuals and society
to choose certain wants. One way of representing the
ch_c_:_i_ciie_s:_ivailablc to society is in the form of a production
possibility curve. A production possibility curve (PPC)
shows the various combinations of two_types of gi;;)ds
that an economy can produce when its resources are fully
employed. ‘Analysis of the PPC is based upon the
following assumptions:
a) The quantity and quality of economic resources
available for use during the year are fixed
b) There are two broad classes of output to be
produced with available economic resources over
the year
¢) Some inputs are better adapted to the prqduction of
one type of good than the production of the other

d) Technology does not change during the year
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In Table 1.1 at alternative A, all resources are used in
the production of sickle and hence the maximum amount
of it (i.e., 10 million units) is produced. Similarly, at
alternative E all resources are used in the production of
teff as the result of which the maximum amount of it (i.e.,
4 million tons) are produced. These are the two extreme
possibilities where the maximum amount of one and no
quantity of the other are combined. In between the two
extremes, various combinations of sickle and teff can be
produced. The table shows that since resources are
limited in supply and are fully employed, any increase in
production of teff necessities the shift of resources away

form the production of sickle and vice versa.

Table 1.1 Production possibility of teff and sickle

Production alternative

Types of product A B C 2 I =

Teff(in million tons) 0 1 2 3

Sickle (in millionunits) | 10 | 9 | 7 | 4. | 0
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Sickle

Fig. 1.2

Production possibility curve

In Fig. 1.2, the five production alternatives are
plotted. By joining these points with a smooth line. we
obtain the PPC. The curve shows that if the society wants
to have more teff it must have less of sickle.

Each point on the PPC represents some maximum

output of the products which means that society is

14



working efficiently. Points lying outside the PPC, like F.
are unobtainable with the limited resources and fixed
technology. With unemployment or underemployment
society produces inside the PPC like point G v -
Opportunity cost is the amount of other products
whichm up to obtain a unit of any given

product. In an equation form,

The amount sacrificed of one good

Opportunity cost = -
The amount obtained of the other good

In our case, the amount of sickle which must be sacrificed
: g

to get another unit of teff is the opportunity cost of teff.

For example, when we go from alternative D to
alternative E the opportunity cost of teff is 4 (E:_j' )-The

concavity of the PPC reflects increasing OW
E;:_o_q_clr_n_i_c_g_r_c-)_wth 1s the expansion in production
poss-ii)llit_y, That means the PPC shifts its position to the
right (see Fig.1.3). Sources of economic growth:
a) Increased quantily of economic re.s.‘.;urce:%. —j
b) Improved quality of economic resources, f
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Programmed review activities

1(Microeconomics/Macroeconomics)deals
ECORON

with large aggregates like money supply. People’s

2(ability to satisfy wants / wants) seem to

exceed their 3(ability to satisfy wants /
want). 4(Lapd / Capital) is taken to mean all the
natural resources available to society.

S(Consgner goods / Cg]ﬂtal goods) consist of
all those things \;v'hich people have made to aid them in
production. 6(cgnsumer goods / Capital
goods) are things which are wanted for their own sake
because they provide immediate satisfaction. Any point
inside the PPC must indicate that there are

7(ufne_mpl_oyc'd / mo idle) resources in the

economy. If socieéty’s ability to produce output increases,

this will be represented by an _ 8(inward /

outward) movement of the entire PPC. When society

e_t"ﬁciehtly allocates its resources and uses the best

available technology it operates 9(outside the
< [



PPC / on lhe PPC) Scarcity compels society to make
choice and choice involves 10(no sacrifice /
sacrifice). Scarce resources are combined to produce

11(free / economic) goods. While deductive
method is 12(a descending / an asc—eq(Jing)

process inductive method is 13(a descending /

an  ascending) process. Firms are on the
14(supply /@d) side in thef,r.es_ource

markets, and households are on the ' lS(sypply /
demand) side in the product market. 16
(Economic / Free) goods have zero opportunity cost. The
PPC is I 7(straight line / convex to the origin)
when -opportunity cost is constant. If an economy is
working ipefficiently it can have more goods and services
with | 8(additional / no ggditional) use of
resources. When we say that resources are scarce we
mean that we 19(want / have) more than we
20(can have / want) Under
21(command economy / mixed economy)

@_lic ownership and private ownership coexist. With
18






8. Microeconomics is the aggregate of macro-level
economic activities. F

9. Macroeconomics helps us to understand how workers
decide where to work. T¢

10. Positive analysis answers the question what will be.

11. Economic goods are obtained without effort.

12. Households are on the supply side in the resource
market. ~

13. Any good or service produced from scarce resources
is also scarce.

14. In economics the, term Ef,?_i_tfll includes money.

15. Utilization of the previously unemployed resources

does not lead to economic growth.

Multiple Choice

1. Which of the following is not considered a factor of
production?
¥ Labor. C) Organizational skill .
\NL_' 5 ) Org
B) Tractor, E%) Food

20



2. The fact that economic resources are scarce means:
%) that it is necessary to make choice since some
wants must go unsatisfied
B) that economic goods and services are also scarce
C) that resources should be used in those ways in
which their productivity is the greatest
D) all of the above
3. The questions that have to be solved in using resources
efficiently are solved in the market economy by:
A) households and firms each behaving selfishly
B) the council of economic advisors
C) firms alone
D) none of the ab?ve because there are no questions in
the market economy
4. Which of the following economic resource is not land?
A).Organizational skill
B) Arable land
C) Mineral deposits
D) Forest ,

21



5. Indicate the wrong statement.
A) A disagreement on a normative statement is solved
by voting
.B) Topics such as the study of individual markets are
considered under macroeconomics
C) Normative statements reflect people’s moral
attitudes
D) All of the above
6. Which of the following statements is not true?
A) In inductive method reasoning goes from facts to
theory
B) Economic theory provides the basis for economic
analysis
C) An efficient economy can produce more of one
good with out producing less of another

D) None of the above

22






9. Which of the following statements is tiue?
A) The real cost of choice to produce more of one
good is known as total cost of production
B) Capital differs from other resources in that it is
made of metal
C) In rich countries scarcity of resources is not an
economic problem
D) The PPC is drawn-up to indicate what can be
produced through the best possible
employment of resources
10. Choose the correct statement.
A) Restrictiox: l?f monopoly power formation is the
role of the government in the market economy
B) Mixed economy is often called the real system
C) In the circular flow diagram, firms take supply”
side in the resource market -
D) The existence of strong government role is one

characteristic feature of market economy

24



Matching

Column ‘A’ Column ‘B’

1. Capital ° A) Scarcity and choice

2. Consumer goods B) Obtained without effort

3. The “invisible hand’ C) Reveals increasing opportunity
cost

4. Free goods D) Involves employment of large
amount of labor relative to
capital

5. Inductive methods E) Provide immediate satisfaction

6. Ceteris paribus F) Answers the question what
should be

7. Economic problem G) The unseen coordination of
market

8. Labor-intensive H) A simplifying assumption of an

= economic analysis
9. Concavity of the PPC I) Involves employment of large
amount of capital relative to labor
10. Normative analysis J) Things which are produced not
because they are wanted
T e K) Ascending process

25




Short-answer questions
1. Explain the relationship between scarcity, choice, and

opportunity cost.

2. Determine whether each of the following questions is a
MICroeconomic Or macroeconomic issue.

2.1 How do firms decide how many workers to employ?

2.2 Why does the national income grow with fluctuation

from the growth trend?

2.3 How markets operate.

2.4 When will the economy speed-up?

26









11. What does a straight line PPC indicate about costs?

12. Assume that point h with 50 units of good A and 150
units of good B is an efficient point. Could point i with
45 units of good A and ]&ﬁ“ units of good B also be an

efficient point?
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15. True

Multiple choice

1.

D) Food

2. D) All of the above

3. A) Households and firms each behaving selfishly

4.

5. B) Topics such as the study of individual markets are

A) Organizational skill

considered under macroeconomics

. C) An efficient economy can produce more of one

good without producing less of another

. C) Economic goods are obtained without effort

. A) The behavior of individual decision-making units in

the economy

9. D) The PPC is drawn-up to indicate what can be
produced through the best possible employment of
resources

10. BY Restriction-of monopoly power formation is the

r overnment i economy.
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Matching _

1. J) Things which are produced not because they are
wanted for their own sake «

2. E) Provide immediate satisfaction -

3. G) The unseen coordination of market ~

4. B) Obtained without effort -

5. K) Ascending process

6. H) A simplifying assumption in economic analysis

7. A) Scarcity and choice

8. D) Involves employment of large amount of labor

relative to capital

\O

. C) Reveals increasing opportunity cost *

10. F) Answers the question what should be

Short-answer questions

1. Society’s material wants are greater than the resources
available to satisfy them. Thus, society must choose
which wants to satisfy and which not. This is so

because to choose to do some thing is to choose not to
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5. The threc fundamental choices arise because society’s
materic. wants are unlimited but economic resources
are scarce.

6. The central problems of an economy can be solved
either by market forces or by a central planning body.

7. The concavity of the PPC reflects the law of increasing
opportunity cost.

8. When the quality of resources improves the PPC shifts
its position to the right which means that economic
growth is achieved.

9.The country operates inside its PPC means that there is
either unemployment or underemployment of
resources.

10. Increase in quantity of economic resources, advance
in technology.

11. It indicates constant cost. %

12. Point i could also be efficient because more of one [

good comes with less of another good.
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of demand says that there is an inverse relationship
between the price of a good and quantity demanded,
keeping other factors constant. The two explanations to
the law of demand are the income effect and the
substitution effect.

The exceptional case where the law demand is
violated is for (M. For Giffen goods the
demand curve is upward sloping.

Change in quantity demanded and change in demand

These two terms imply entirely different things.
Fig.2.2 suggests that at p; the quantity demanded is q; at
point ‘a’ on the dd demand curve. If price falls to p;
quantity demanded increases to q; at point ‘b’ on the
same demand curve. That means due to the fall in the
price of the good itself, we moved from point a to point b
on the same demand curve. This movement along the
same demand curve caused by the change in the price of
the good itself is known as change in quantity demanded.
Here demand either extends when price falls or contracts

when price rises but it does not change.
40
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Quantity

Fig 2.2 Movement along a demand curve

In Fig.2.3, demand for the good is initially
represented by dd. A movement or shift in demand to the
right (i.e., to d’d’) is known as increase in demand. This
is so because a greater quantity is demanded at any given
price than previously. On the other hand, a shift in the
demand curve to the left (i.e., to d’’d’’) is known as a
decrease in demand because a smaller quantity is
demanded at the same price. For example, when price is
p; quantity demanded is q, at point ‘a’ on the dd curve.
But after the increase in demand at the same p, more
quantity (i.e., q;) is demanded, at point ‘b’ on the d’d’
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curve. Similarly, after the decrease in demand at the same
price g3 is demanded at point ‘c’ on the d*’d’’ curve. The
movement of the demand curve to either to the right or to
tne left of the original demand curve is known as change
in demand. The cause of change in demand is the change

in the other factors except the price of the good itself.

Price

== D

d

o) e sl B 25 ar e T

|
|
o
I I
| I
| |
l 1
o] y q 'Cl2 Quantity

1

Fig 2.3 A shift of demand curve

Causes of change in demand
a) The price of substitutes

Goods that serve the same purpose are known as
substitutes. An increase in the price of a good, therefore,

will tend to increase demand for its substitutes. Similarly,
- 42
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2.3 Supply

Supply refers to the various quantities of a good a

seller is willing and able to offer for sale at each specific
price, over some giveﬁ period of time. Factors influencing
sﬁﬁ}iy of good A (sa):
a) The price of A (Py,)
b) The price of substitutes (Ps)
c¢) The price of complements (Pc)
d) Cost of production (C)
e¢) Expectation about future price change (¥)
In a symbolic form, supply function for gocd A can be
written as: i

$a =Py, Ps, P G, )

Table 3.2 shows the relationship between price and
quantity supplied, ceteris paribus. The table reveals that
when the price of the go‘(?d increases its quantity supplied

increases, ana when price decreases quantity supplied
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decreases. This direct relationship between price and

quantity supplied is known as the law of supply.

Table 2.2 An individual seller’s supply schedule for good

A
Good A
Price Quantity supplied
(birr per kilogram) (Kilogram per week)

30 100
25 90
20 80
15 70
10 60
Price 5

|
|
|
|
|
|
|
I
I
I
I
1

|
l .
0O 60 70 8 90 100 Quentity

Fig 2.4 Movement along a supply curve
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Plotting each pair of the price and quantity data on
a graph, we obtain an upward slopping supply curve (see
Fig.2.4). Obviously, due to the change in the price of the
good itself quantity supplied changes involving
movement along the same supply curve. Here, supply
either extends or contracts but does not change. This !
movement along the same sup_ﬁly curve caused by the

change in the price of the ébod itself is known as«change

in quantity supplied. If one of the supply determinants,
except the pr—i:é‘;)f the go'od itself, changes the supply
curve shifts its position (see Fig.2.5). If the supply curve
shifts to the right (for example, S’S’) supply increases, if
it shifts to the left (for example, S*’S’’) supply decreases.
This shift in the position of the supply curve, causing -
change in quantity supplied at each pr.ice level is known
as change in supply. Change in supply is caused by
changes ‘in other factors, price of the good remaining

constant.
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of A. A fall in the prices of complements reduces the
supply of A.
C) Cost of production (C)

Other things constant, a rise in cost of production
will reduce profit, and hence lead to a decrease in supply. -
Conversely, a fall in cost of production will lead to higher

profit at any given price and thus will lead to an increase

in supply. ] A )P J::;
d) Expectation about future Brjfp change 2

Expectation of the future relative price of a product
can affect current willingness to supply. If price is
expected to rise’ current supply decreases, and if price is

expected to fall current supply increases.
Market suﬁply '
The market supply of a good is the sum of the

various quantities supplied at each specific price per time
period by all the sellers of the good. Suppose that there
are only two sellers in the market and they have identical
supply which is represented by the individual supply

function:
49


















Fig.2.7 shows:

i. the effect of an increase in demand from DD to
D’D’, ceteris paribus.
As the result of the increase in demand price rises from
its original equilibrium of op to op’, and there is a rise
in equilibrium quantity from oq to oq’.

ii. the effect of a decrease in demand from DD to
D”D”
Equilibrium price falls from op to op” and equilibrium

quantity falls from oq to oq”.

y
o
'\'_'\. =

N 3
[].
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|
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|
I
Fig. 2.7 . gy
ig. 2.7
g Effects of a shift i demand curve on market tqllilibrim-n>
b) Change in supply
1. the effect of an increase in supply from SS to S’S’,
ceteris paribus.
As the consequence of this change, equilibrium price
falls from op to op’ but equilibrium quantity increases

from oq to oq’
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2.5 Price Controls

We can use the analysis of the competitive industry
to predict the effects of price controls. The government,
sometimes, intervenes with the functioning of the price
mechanism by establishing price c€ilings or pricg_ﬂ_ogi;s.
Price ceilings are maximum price fixation by law. Price
floors are minimun price fixation by law.

Governments sometimes place taxes and subsidies
on goods and services to influence prices and hence the
quantities produced and consumed. A tax on a product
usually increases its price and so decreases consumption
and hence production. Subsidy, on the other hand,
reduces price and stimulates consumption and hence
production.

2.6 Elasticity of Demand

The price elasticity of —demand shows the
responsiveness _of quantity demanded for a good to
changes in the priceﬂ,_(_)ther things being equal.

Percentage change in quantity demanded

Price elasticity = -
Percentage change in price

of demand (e,) 58



Where P is price, Q is quantity, AP is change in price, AQ

is change in quantity. For a straight line demdr_ld curve

—

%g is the reciprocal of the slope of the demand line.

drce. =2 hA+h |
[ AP 0+0

Where P, and Q, represent the original price and quantity,

aﬁd P, and Q, stand for the new price and quantity,

respectively.

The price.elasticity of demand can be divided into the

following three categories.

a) When the price elasticity of demand is greater than
one, demand is ¢fastic. &® 24 > 1 - eAeotS C

b) When the price elasticity of demand i$ less than one,

demand is inelastic. Red e~ \ 2 1~eheainC
¢) When the price elasticity of demand is equal to one,

demand is unitary elastic. odc | 5 U~Lder~ Clonih
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Example
1) From Table 2.4, and Fig. 2.9, calculate the price
elasticity of demand when price equals 4, and

G
determine whether demand is elastic, inefastic, or

» . Q ] 1 ,_6 3
unitary elastic. By, 1 LR i ’fp}\ 4
= 2 . LA i )V v
Solution USRS x *
Vs il an g
ed:_ig.*xf_ I.x' {y =5 \
AP0 < /. b7
The.slope of the demand curve (ip-) =l by
AR 1=7 =6
: AO~=1
The reciprocal of the slope —==—=-1
AT
&)= ~(-D)x5
)
— ‘]\ ‘;-.HL
1 Y "
Demand is unitary elastic because e = 1. L
2) Estimate the price elasticity of demand in the price
\ ) oy
range from é_}i) 6. Is demand elastic or inelastic’ 1
Solution i yg 03 1}-‘- ¥
. R 5
o) e |} '.:)/4//
Arced=—-{3£x hh ~ e
A‘P QI + Q?_
4 o
61 M L 2 LM
COxEE o 11 ;B gerenkE T
- 7, ML
yte B2 a2 "



We have already determined the slope of the
straight line demand curve and its reciprocal which equals
-1. Therefore,

5+6
3+2

Arce, =—(-1)x

Demand is elastic because e;= %>1.

w#Elasticity of demand and total revenue
How a change in price affects total revenue.(i.e.,

. price x quantity) depends upon elasticity of demand. If

~ the s_@lleuﬁducﬁs_p@'gpg_q and : f\‘?

a) demand is found to be elastig, total revenue will yﬁ
AN ' g p ¢
( 11%0_1'9_2_1_5_61/ A &

}7
b) demand is inelastic, total revenue will fall_lfl‘ ;

; ; . /
¢) demand is unitary elastic, total revenue does not a-) -

—

change.

The effect of the change in price upon total revenue can
be summarized as follows:
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When if then because

I eqi>1 T2+ IRL Q falls faster than the rise in P
2: egel 1P ORT Q falls slower than the rise in P
3. €>1 P  TR?T Q rises faster than the fall in P
4. ey<li JP  TRI Q rises slower than the fall in P
The above summary reveals that: 3
a) If price and total revenue change in the same direction k&;
. ) e - - )
(for example, price decreases and total revenue also !K g i\y
AT Sy Y : - i / Yow
decreases), femand i§ inelastip > -Sm—e 4 mekt A., Wi
i
7. b)If prflcgma]_mchange in opposite dlrectlons @ }q'“f j_\;
IR

(for example, price increases but total revenue

B = - AL vearhon
dccreasesl,w oPpe 04 HE

¢) If total revenue Qoes not change when price changes
demand is{upitary elastic. ‘ S doesaot OefR

Three exceptional cases

In Fig.2.10, the:

a) D, (or vertical) demand curve is known as a Eg_r_fectly

inelastic demand curve. For a perfectly inelastic

demand curve price eliﬁcity of demand equals@.

& " |ch—aveﬁbwra@4"pé
PEOC > i*ﬂﬁ*‘m—"’h’q“ 2t

pRo c > ﬂe,QMW bx pericy 2 2 |









Perc. ch. in Q.D. ’ i
g = LETC ch.in Q.D en
Perc.ch.inY

Where Perc. Ch. in Q.D. — percentage change in quantity
demanded,
Perc. ch. in ¥ — Percentage change in income.
Income elasticity of demand is positivﬁﬂo_n_gal
goods but negative for inferior goods.
Cross-elasticity of demand
Cross-elasticity of demand (eag) measures the
responsiveness of quantity demanded of good A when

there 1s a change 1n the price of good B.

_ Perc.Ch.inQ.D.of A
Perc. Ch. in price of B

LT

Cross-elasticity of demand is positive for su_bs/titmr:
goods but negative for complementary goods. If the
goods are unrelated cross-elasticity of demand equals

e —
2.7 Elasticity Of supply

The elasticity of supply shows the responsiveness

of quantity supplied when one of the supply determinants

changes. 66
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Fig. 2.11 Three exceptionc| cases of
elasticity of supply

Determinants of elasticity of supply

a) Length of time

Momentary time is so short that it is impossible to
expand supply. Therefore, in the momentary time supply
is perfectly inelastic. In the short-run, it is possible to
expand supply by using more of the variable factors, but
the existence of fixed factors limits the scope for
increased output. Therefore, supply is more elastic in the
short-run than in the momentary time. In the long-run,

however, there is sufficient time to adjust all factors of
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Solution

When price decreases from 6 to 4 total revenue
decreases from 60 to 48. Hence, as price and total
revenue are changing in the same direction, demand is
inelastic. -
2. In the following table: :
a) determine whether demand is elastic or inelastic when

price increases from 4 to 6.

~b) compute the coefficient of price elasticity of demand.

Price (birr) | Quantity demanded Total
(Units per week) revenue
6 i 10\, ' 60 "
4- ‘ 18/ 72 fio

93 a) When price increases-from 4 to. 6, total revenue
decreases from 72 to 60. As price and total revenue are

changing in opposite directions, demand is Ielastlc. o

e ————
b) Adarce, = -J(AQ"M - ')/’"
\ .__‘QI +0, To ?/3 L oo
b . I| & ( ) ’-;--0 -
_=1“;10'_18x 4+gl . ,— ey O
. 6-4 " 18+10 ; 4
A / \ e b
*

71 : lo \












_ 33-119Q,
0 +3

2.2(Q;+3)=33-11Q
2.2Q,+6.6=33-11Q,
22Q,+11Q;=33-6.6

2.2

13.2Q, =264

— 264

Q 132
=2

5. The quantity demanded of good A at a price of birr 7 is

1 unit. Why is this an incomplete statement of
Pirzs) ‘

'?\
demand?-_ 5.1

Answer
Because the time period during which the purcﬁase
is made has not been mentioned. =~ | |
e 4
6. Assume that a 10 per cent fall in the price of a good
results in a rise in the quantity demanded from 24 units to

32 units. Determine the price elasticity of dcmﬂ_d. -

f’l‘t {b 76
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Activities

Programmed Review Activities
In its broadest sense, a market is

l(necessarily a place / an institution) through which
price making forces operate. For any good, a change in
quantity demanded is always caused by a change in
______ 2(its price / the price of related goods). A
change in quantity demanded referstoa  3(shift to

a new / moy_gﬂn_lgg_t_:_lk)lxg___smexisgng) demand curve. A

rise in cost of production will 4(increase /
decrease) profit and thus will S(increase /

decrease) supply. An increase in real income will
6(reduce / increase) demand for inferior goods
and _ 7( reduce / increase) demand for
8(superior / inferior) goods. Goods are
9(substitutes / complements) when they are
jointly demanded. An increase in the price of a good will
tend to  10(reduce / increase) demand for its
11(substitute / complement). At a below
equilibrium price quantity demanded __ 12(exceeds /
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falls short of ) quantity supplied. At a below equilibrium
price, buyers 13(bid down / bid up) price.

14(Substitute / Complement) is a good whose
demand varies directly with the price of another good,

ceteris paribus.

For a straight line demand curve %

15(varies / is constant). But, even when demand curve is

a straight line, price elasticity of demand varies along its
A0 b

entire length because the ratio 16(AP / Q)

: T2 ; : s
varies. 0 rises as price rises, so that elasticity of demand

17(rises / falls) as we move up the demand curve.

When demand is inelastic, an increase in demand leads to
a 18(fall / rise) in total revenue. At all prices
greater than the  equilibrium  price  supply
is 19(greater / less) than demand. When
demand is greater than  supply, there is
20(surplus / shortage). Surplus pushes price

21(down / up). When consumer taste is in
81



favor of a good demand for the good
22(decreases / increases). Supply increases
means the whole supply curve shifts its position to the
23(right / left). 24(Contraction /
Decrease) in demand is the change in the quantity
demanded of a good with a given rise in its price, ceteris
paribus. 25(Contraction / Decrease) in demand
is a leftward shift in the demand curve due to changes in
any of demand determinants except the price of the good
itself. Inferior goods are goods for which there is
26(a decrease / an increase) in the
consumption with increase in income of the consumer.
What makes buyers buy or refuse to buy is the
subject of  27(demand / supply) analysis. The
greatest single influence on a person’s demand for a
product is 28(cost of production / its price). The
increase in quantity demanded can also be referred to as
29(a contraction / an extension) of demand and
the decrease quantity demanded referred to as

30(a contraction / an extension) of demand.
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If an increase in demand causes the price of a good to
increase, production will become 31(more
profitable / less profitable). The amount supplied will
32(decrease / increase) because existing firms
will be _ 33(encouraged / discouraged) to
increase their outputs and new firms will be
34(driven out / attracted' into) the industry. Movements

along the supply curve are described as

35(extension or contraction of / change in)

supply. A fall in supply means that 36(more /
less) is supplied at each and every price and the supply
curve moves to the 37(left / right).

When price changes there is a change in quantity

demanded in the 38(same / opposite)
direction. An increase in demand 39(raises /
reduces) equilibrium price and 40(raises

/reduces) equilibrium quantity. A decrease in supply
41(raises / lowers) equilibrium, but
42(raises / reduces) equilibrium quantity. If the

numerical value of elasticity of demand is
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43(greater / less) than one demand is elastic. If the
percentage change in quantity demanded is less than the
percentage change in price demand is
44(elastic / inelastic) On a straight line demand curve,
on the upper portion of the curve demand is
____45(elastic / inelastic).The slope of the demand
curve 46(equals / does not equal) the elasticity
of demand. On the 47(left / right) portion of a
straight line demand curve percentage change in quantity
demanded will be relatively small and percentage change
in price will be relatively large. Moving along a straight
line demand curve to the right will 48(reduce /
increase) -elasticity. When the cost of a good is a
relatively small proportion of total expenditure total
demand will tend to be 49(less / more) elastic.
True/False
1.The demand curve for an individual firm under perfect
competition is downward sloping.

2. If the price elasticity of supply is 1.5, supply is elastic.
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3. A change in demand means that at each price a
different quantity is now demanded than before the
change. |

4. At any price above the market clearing price, there will
be an excess quantity demanded.

5. A movement along a demand curve and a movement of

the demand curve have the same cause.
6. A rise in price of a good causes contraction of demand.
7. The change in quantity demanded resulting from the

change in demand is brought about by the chan'ge in
the price of the good itself.

8. Supply means the existing stock of a good.

9. When price changes there is a change in quantity
supplied in the same direction. :

10. The market-c.learing price is also called the

equilibrium price.

85



Multiple choice
1. Which of the following will cause a movement of the
demand curve for good A?
a) A fall in price of A
b) A fall in the'cost of producing A
' cj he development of a complement of A
d) None of the above
2. If the price elasticity of demand is greater than one, |
demand is
a) elastic c) unitary elastic
b) inelastic d) none of the above
3. Indicate the determinant of elasticity of supply.
a) The proportion of income spent on the good
b) Availability of factors of production
c) Nature of the good
d)aandc
4. When demand is inelastic, if price rises total revenue
will
a) decrease c) increase

b) not change d) none of the above
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6. The force that tends to move the price down from a

level like P, is:

a) the existence of shortage

b ) the competition among sellers

¢) the competition among buyers

d)aandc

7. If price is set at P, by the government, then we know

that:

a) quantity supplied is greater than quantity demanded
by Q+-Q,

b) surplus exists

c) the competition is among sellers

d) There is favorable condition for the development of
black market

8. At the short-run equilibrium, assuming constant
supply, with a decrease in demand there will be:
a) lower price and lower quantity
b) higher price and reduced quantity
c) higher price and higher quantity
d) lower price and higher quantity
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9. A demand curve with unitary elasticity at all points
is: ’
a) a parabola c) a hyperbola
b) a straight line d) none of the above

10. Which of the following statements is true?

a) The law of supply states that there is a direct
relationship between the price of a good and
its quantity supplied

b) Market supply can be obtained by multiplying
the individual supply by the number of sellers,
when all sellers have identical supply schedule

c) Market supply is the sum total of individual
supplies

d) All of the above

11. A decrease in the price of a good whose demand

curve is a rectangular hyperbol~ causes total revenue

to:
a) decrease ¢) increase
b) remain the same d) none of the above
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Matching
Column A Column B

,/—; 1. Demand schedule a) Decreases consumption
4 2. Elasticity of demand b) Upward sloping
3. Change in the quantity  c) Pushes price down

demanded _a) Price and total revenue change in
~4. Complements opposite directions
5. Taxation e) The use of one good necessitates
w0, eq<l the use of another
/1. el f. Perfectly inelastic supply curve
~ 8. Substitutes g. Negative income elasticity of
9. es=0 v demand
2 10. Subsidy h. The relationship between the price
11. Supply curve of a product and the quantity
12. Inferior good demanded
13. Surplus 1. If price increases total revenue
increases

J- Positive cross elasticity of demand
k. Measurement of the size of the
change in quantity demanded that
result from a change in the price
of the good itself ,
1. Promotes supply by decreasing
cost of production
m. A movement along the same
unchanged demand curve
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14. a) For Giffen goods there is direct relationship
between price and quantity demanded
15. b) Surplus pushes price down

1 6 a) A tax on a product stimulates consumption

Matching

1. h) The relationship between the price of a produgt and
quantity demanded

2: k) Measurement of the size of the change in quantity
demanded that results from a change in the price gf.
the good itself

3. m) A movement along the same unchanged demang
curve |

4. e) The use of one good necessitates the use of another

5. a) Decreases consumption

6. 1) If price increases total revenue increases

7. d) Price and total revenue change in opposite directions

8. j) Positive cross-elasticity of demand

9. f) Perfectly inelastic supply curve

10. 1) Promotes supply by decreasing cost
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-
11. b) upward sloping

12. g) negative income elasticity of demand

13 <) Pushes price down D=2

Siiort-answer questions

1. The law of ‘demand says that there is an inverse
relationship between price and quantity demanded.

2. Quantity demanded is the specific amount purchased at
a given price. Demand is the whole relationship
between the various prices of a good on the one hand
and the various quantities demanded on the other
hand. '

3. Want for a good becomes demand only when that want
is supported by the ability to pay for the good.

4. An individual’s demand for a good is the various
quantities of it the consumer is willing and able to buy
at each specific price, over some given period of time.
Market demand is the horizontal sum of individual

demands.
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5. The price of the good itself, the price of substitutes, the
price of complements, change in consumer income,
change in consumer taste, and consumer’s expectation
about future price change.

6. Demand curve is a curve which shows the quantity
demanded of a good at each particular market price.
Demand function shows the relationship between the
quantity of a good and the demand determinants:

7. A horizontal demand curve means that infinite quantity
is demanded at the same price. The price elasticity of
demand for a horizontal demand curve equals infinite.

8.

8.1 Demand decreases means the whole demand curve
shift its position to the left of the original one.

8.2 An increase in supply involves a shift of the whole
supply curve to the right.

8.3 If the price of a good falls its quantity demanded
increases.

8.4 When there is surplus the competition is among

sellers. 104



8.5 A seller who wants to enhance total revenue should
decrease price when demand is elastic.

9. When demand is elastic if price decreases total revenue
will increase.

10. A consumer buys more quantity of a good at the same
price when demand increases.

11. For an inferior good, when consumer income
increases demand decreases and when consumer
income decreases demand increases.

12. Good A and good B are complements.

13. Length of time, Availability of factors of production.
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Chapter 3

3.1 Utility and Equilibrium in Consumption

A consumer buys a good or service because it has
utility to him/her. Utility is the amount of satisfaction to
be obtained from a good or service at a particular time.
Utility has nothing to do with usefulness nor it has any
ethical connotation. Moreover, utilify of a good varies
from person to person.

According to the cardinal approach, utility can be
measured and its unit of measurement is ;ﬂ; In the
ordinal approach utility cannot be measured but it can be
compared. Following the cardinal approach and assuming
that ‘the consumer consumes n different goods and
services: |
Total utility (U) is the sum of utilities obtained by a
consumer from consuming the various units of goods and
services. 1.e.,

U=U,+U;+...U,

= f](Ch) I fz(Qz] 7t ---fn(Qrw)
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Where q is quantity purchased.

The additional satisfaction received over a given
period by consuming one more unit of a good is known as
marginal utility (MU).

A rational and utility maximizing consumer
consumes goods in the order of their utilities. Consumer
equilibrium is established when the marginal utilities per
money spent are equal on each good purchased and
his/her money income available for the purchase of the

goods has been used up complefely. That is:

‘MLA = MLB'
Rt
Provided that,

PaQa+PpQp+...=Ys* =~ =
Where MU, — Marginal utility of good A,
MUg — Me_lrginal utilitly of good B,
P4 — Price of A,
Pg"— Price of B,
Qa — Quantity of A,
Qg — Quantity of B

Y — Consumer income..
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utility. Only for the marginal unit which a consumer is
just ready to buy price is exactly equal to the satisfaction
that he/she expects to get from that unit.

34 Indifference Curyﬁe

i

In the indifference curve analysis the emphasis is
on comparing different utility levels instead of measuring
them through cardinal scale. én indifference curve is a
locus of points each showing a different combination of
two goods which yield the same satisfaction to the
consumer. Table 3.2 shows combination of two goods
between which a consumer is indifferent. If the
combinations h, i, j, k, | in the table are plotted and joined
by a smooth curve the resulting curve is known as an
indifference curve (see Fig. 3.2). In Fig.3.2 moving down
the curve, the consumer is substituting one good for the
other but maintaining a constant level of utility derived
from them. The rate at the marginal at which the
consumer substitutes one good for the other so as to

remain_equally satisfied is thg___gli)_pgpim_taj.ndifferenge

curve. It is known as the marginal rate of substitution.
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¢) Indifference curves do not intersect nor are they

tangent to one another.

Indifference curves by themselves cannot tell us which
combination is to be chosen. In addition to his/her desire,
the consumer must have the capacity to pay for the goods.
The consumer’s capacity which is indicated by the budget
line is determined by his/her income and the prices of the

two goods. Fig.3.3 shows a budget line. Note that

¥ Y
Qa=—, and Qp=—.
A= Qs P,

Where Y is consumer income.

The budget line divides the area between quanti-t}lf‘
of A and quantity of B axes into feasibility area (for
example point v), and non-feasibility area (for example

point w).
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Quantigy of A

quantity of B

Fig.3.3 Consumers budget time
The utility maximizing rule
Consumer equilibrium is established on the highest
attainable J_tiifff:rénce curve. For example, in Fig4.3
consumer utility is maximized at point E. At this point, the
slope of the highest attainable indifference curve (i.e., the
slope of I,) is equal to the slope of the budget line (i.e., the
slope of KL). This is so because the two are tangent to each
other at that point. At the point of tangency (point E):
The slope of the = The slope of the

indifference curve budget line , or
MU, B
MU P

4 A
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Activities
Programmed review activities
In the 1(ordinal / cardinal) approach,

utility is assumed to be quantifiable. Even though human

wants in the aggregateare _ 2(unlimited / limited),
a particular want 3(cgg_be"// gg\g;mt_be)
satisfied. A consumer stops buying a good at a point
where : price a_pd total 'utility / rr‘lﬁ(ginal
utility) are just equal. 5(Marginal / Average)

utility is the addition made to the total utility by the
consumption of the last unit considered just @ﬁhﬂlﬁle.
%en only one good is purchased: the
6(inequality / eg}a_;.ljty) between MU and price indicates
the position of consumer’s equilibrium. In the two goods
consumption model, the consumer derives maximum
satisfaction when the _____ 7(ttal / niarelnal) ukilities
per money spent of the two goods are equal.
8(Indifference curve / ansumer surplus) is the
difference between what a consuﬁer pays for some good
or service and what he/she would have been willing to
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pay. When 9(total / marginal) utility is at its

IO(miniml;m / maximum), marginal utility
equals zero. When MU is negative, total utility

11 (rises / falls).

True / False
1. In the cardinal approach, the utilities of the yarious
goods are additive. T

2. When a consumer goes on consuming a good, the MU

rises as his/her want is satisfied. /-
//3,;-.‘_,'-’I'he marginal unit is not fixed but shifts forward and
bacl'cward according to changes in price.

4. In case the consumer is buying two goods, the
equilibrium position will be determined according to
the law of equi-marginal utilities.

5, Tﬁe utility of a gjggd is the same to all persons. <

6. MU equals the slope of the TU curve. -

7. Utility is maximized on the lowest attainable
indifference curve..

8. Indifference curves can sometimes intersect.
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Matching

Column A Column B
‘.;:1. Marginal utility¢  _a) Boundary of consumption
¢ 2. Ordinal utility b) Total utility declines
3, Negative MU '6) The area under the
44. Marginal rate of ~ budget line
substitution d) The slope of the

indifference curve

i'S. % = % e) The increase in total utility

6. Budget line resulting from the

7. Feasibility area consumption of the marginal
unit

f) Consumer equilibrium
g) Utility cannot be
measured

h) The area outside the budget

line
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Short-answer questions

1. Marginal utility is the additional satisfaction received
over a given period by consuming one more unit of a
good.

2..The law of diminishing marginal utility states that the
marginal utility of a good declines as more of it is
consumed, over any given period.

3. The consumer’s utility is maximized when the

marginal utiliti oney spent_ 1 on each

good purchased and his/her mpney income available

for the purchase of the goods has been exhausted. i.e.,
MU, MU,

Ly B

, provided that P,Q, + PgQp =Y.

4. He/she will buy more of good A and less of good B.
5. When marginal utility is negative total utility

decreases.
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Chapter 4

4.1 Single Proprietorship

Single proprietorship is a business owned and
operated by one person.
Advantages of single proprietorship
a) Self-interest of the owner minimizes waste and

encourages efficiency

The owner has every incentive to make his/her
business as efficient as possible.
b) Self-decision

The owner can take bold steps and quick actions in
any vital business matter, without fear.
c) Personal contact with employees and customers

The smallness of the business enables the owner to
maintain a close and more personal contact with both
his/her employees and customers.
d) The ease with which the business starts

Single proprietorship is the easiest type"of business

to start.
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Disadvantage of single proprietorship
a) The §mallness of the capital does not allow expansion
Due to the limited access to loan, single
proprietorship is unsuitable for industries where there are
benéfits from large-scale production.
b) Limited continuity~
The business may fail to continue after the death or
retirement of the able owner.
¢) Unlimited liability .~
In case of business failure, the proprietor can
conceivably lose not only what he/she has in the business
but also all his/her personal assets.
4.2 Partnership
Partnership is an association of two or more
persons to operate a business for profit.
Advantages
a) More capital is available .~
Partners can supply a large amount of capital into
the business for expansion.

b) Efficient management _~
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4.3 Corporation

Corporation is an association of persons set-up for
some common purposes and registered according to the
existing company law of the country. It is given the title
of ‘legal personality’
Advantages of corporation
a) Methods of raising money capital

By selling the securities (stocks or bonds),
corporation collects money from many people to meet its
needs. Stocks are the securities that represent a share in
the ownership of a particular business. Stockholders are
the owners of the company and hence get dividends on
the shares when the company earns profit. Bonds are the
securities issued by the corporation to those who lend it
money. Bondholders get regular interest on the bonds.
b) The distinct advantage of limited liability

Once shareholders have fully paid for their shares
they have no further liability for the company’s debts.

c¢) Continuity in the business
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employers on the one hand and employees as well as
customers on the other hand.
d) The problem of double taxation

The part of corporate profit which is paid to
stockholders as dividends is taxed twice.

Activities

Programmed review activities
There are no complicated legal formalities to be
undertaken to start ___  I(corporation / single
proprietorship). In __ 2(sole proprietorship /
corporation) type of business organization decisions
about what should be done and how it should be done do
not require consultations with partners or meetings with
directors. Even in a 3(limited partnership /
corporation) there must be at least one partner whose
liability is unlimited. A limited partner 4(can
take part / ca;nnot take part) in management of the firm.
5(Corporation / Partnership) is a legal

person quite distinct from its owners.
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6(Corporation / Partnership) can do all the legal things
an ordinary person can do. In the single proprietorship
there is 7(legal / no legal) separation between
the firm and owner. All of a stockholder’s property is not
risked when he/she invests in a 8(partnership /
corporation). In 9(corporation / sole
proprietorship) kind of business the owner usually

operates and manages the business himself.

True/False

1. The failure of a corporation would cost the
stockholders only the amount they had invested in it.

2. The fact that a proprietor has unlimited liability makes
it far easier for him/her to borrow money to expand
his/her business.

3. The partnership has one real advantage over the sole
proprietorship in that its owners enjoy limited liability.

4. In the sole proprietorship if the firm goes bankrupt, the
owner’s personal property will be used to settle the

firm’s debts.
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2. Which of the following statements is true?

a) Corporation can accumulate large sum of money that is
necessary for expansion and other purposes

b) Corporation can escape double taxation

c) Corporation can’t incur debts without committing the
personal properties of its owners

d) None of the above

3. Which of the following doesn’t refer to single
proprietorship?

a) Self-decision

b) The problem of double taxation

c¢) The smallness of capital hinders expansion

d) All of the above

4. An advantage of the corporation which the single
proprietorship and partnership do not have is:

a) lack of continuity

b) dishonesty of promoters and directors

¢) unlimited liability

d) methods of raising money capital
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Answer
Programmed review activities
1. single proprietorship
. sole proprietorship
. limited partnership
. cannot take part
. Corporation
. Corporation .
. no legal

. corporation

O 00 O N U A W N

. sole proprietorship

True/False
el |
2.F
3.F
4.T
5.F
6.T
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Multiple choice

1. ¢) unlimited liability of the proprietor

2. a) Corporation can accumulate large sum of money that
is necessary for expansion and other purposes

3. b) The problem of double taxation

4. d) methods of raising money capital

5. c¢) once a shareholder has paid for his/her stock he/she
has no further financial obligation regardless of

how much trouble the corporation gets in

Matching

1. c) Personal property may have to be sold to meet the
claims of creditors

2. d) Creditors cannot take the owner’s property to satisfy
the debts of the corporation

3. a) It can do all the legal things an ordinary person can
do

4. b) Often formed in order to bring some particular skill

into the business
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Chapter 5

5.1 Production ;

Production refers to the process by which inputs
are transformed mto final gg_qu and services. Inputs are
factors of product:on that go into the production of goods
and services. When considering the causes of changes in
output, economists frequently distinguish between the
short-run and the long-tun. The short-run and the long-
run are defined in terms of the time required to bring
about changes in the inputs of various factors of
production.

The short-run is that period of time over which one

or more inputs are fixed. It follows that in the short-run,
e

inputs are divided into wand variable inputs.

Fixed inputs are those the supply of which cannot be
varied over the time period under consideration. Variable
inputs are those the supply of which can be varied in the
short-run. The long-run refers to that period of time: over
which the supply of all mputs can | be varled Therefore,

there is no fixed mput in the long-run.
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Production in the short-run

Production function describes the technological

relationship between_ ipputs and output in physical terms.
Suppose the production of a good requires inputs of

labor(L), land(Z, ), and capital(K ). In an equation form:

Q=fL, L,,K )
Where Q is the output of the good per time period; the
asterisk over Lp and K implies that land and capital are
fixed in the short-run.

Total, average, and marginal products

In the short-run, as land and capital are fixed the
output of the good depends upon labor, Table 5.1 shows
the various levels of output associated with dlﬁ'erent
number of workers. Total product (TP) refers to the total
quantity of the good produced by all the factors employed
during a fixed time period. Average product (AP) is
calculated by dividing TP by the amount of the variable
input. That is:

ey
Marg}f:?zl product (MP) is the change in TP associated
with a small change in the usage of the varlable mput
That is:
i AT
AL

The law of dimimishing marginal returns states that
as increasing amount of a variable input is combined with
fixed inputs eventually the contribution of each additional
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unit of the variable input to the total product declines.
This law operates after the highest point on the MP curve. -

The information contained in Table 5.1 is
represented graphically in Fig.5.1. Both the table and the
graph reveal the fact that:

- as labor increases the TP AP and MP increase, reach
their respective hlghest pomts and then decline

- the MP’s highest point comes before thamﬁzhc AP
when:

- MP is greater than AP, AP is increasing

- AP is at its maximum point, MP-and AP are equal

.- MP is less than AP, AP is decreasing
- TP is at its maximum, MP equals zero
- MP is negative TP decreases.

N N

= M O\

Ak E
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There are three stages of production. Stage I
extends from the origin up to the highest point of the AP
curve. Stage Il starts from the highest point on the AP,
extends to the right and ends at the point where MP
becomes zero. Stage III begins where the MP curve
intersects the horizantal axis from above and extends to
the right where it is negative. Stage II is the rational stage
of production. S

Example s

On the basis of the data in Table 5.1, comment on
the nature of returns to the variable input.
Answer

Up to employment of the second unit the total
product increases at an increasing rate (i.e., MP is
increasing) which means that the law of increasing
r is—dperating. With the third unit MP starts to
decrease which implies that diminishing marginal returns
set in.

5.2 Cost
Fixed and variable costs

In the short-run, costs are divided into fixed costs
and variable costs (see Fig.5.2). Fixed costs are those
which ‘do not vary with the level of output produced.
Once .the necessary capital goods are installed and
production starts even if the firm does not produce any
thing these costs are ingc , in the short-run. Variable
costs are those expenses which are related directly to
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output. In the long-run, there are no fixed inputs and
therefore all inputs are variable.

Cost of rroduction
[ |
Fixed . Variable
! T S I | »
Rents eciation Interest\ Administrative Wages Running Raw Materid
owance Rates - Expense Costs
[ I | | | I J
!
Supplementary Prime
I
Costs

Fig 5.2 Components of cost of production

Total, average, and marginal costs
Total cost refers to the aggregate money
expenditure on the inputs used to produce a given level of
output. It is the sum of total fixed cost (TFC) and total
variable cost (TVC).When there is no production there is S ”Lg
also no variable cost and hence total cost equals total " "

m\iqge cost (see Fig. 5.3). 0 @,ﬁ 4
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With an increase in output AFC continuously
decreases but never becomes zero or negative. With a rise
in output the AVC and AC first fall, reach their respective
minimum levels and then increase.

Marginal cost (MC) is the extra cost of producing
an additional unit of output. It is the rate at which TC
changes as output changes. When output changes. the
change in TC will be the same as the change in the TVC

MC is not inf influenced by fixed cost. Mathematically,
= ATC

MC=—— ,or
AQ
Mmc = AT7C
AQ

Where ATC is’changc in total cost,
ATVC is change in total variable cost.
AQ is change in output.
For the cost-output relationship see Table 5.2.
Table.5.2 and Fig.5.4 show that:

-~ AC, AVC, and MC curves are U-shaped,

- the minimum point of the AVC curve comes before

the minimum point of the AC curve,

- when the MC curve is below the' AC curve, AC is

decreasing,-

- when the MC curve is above the AC curve AC is

rising,

- when AC curve is at its minimum AC equals MC.
The explanation of the relationship between the AVC
curve and the MC curve is similar to the above mentioned
relationship between the AC curve and the MC curve.
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Table 5.2 Cost—output relations f
Qutput | TFGs | TVC T TC | AFC | AVC A€ | MC
0 10 0 10 ; : .
55 , 10 47| 14 10 4 14 4
| IETIRl I T S B TR T
3 10 | 10.8 | 208 | 333 | 36 6.93 | 33
4 O | W S B R B sl S I TR
5 10 17 27 2 3.4 54 | 32
6 10 | 205 | 305 | 1.67 | 342 | 508 | 35
7 10 | 243 | 343 | 143 | 347 49 | 38
8 10, || 286 | 386 | 125 [ 358 | 483 | 43
9 10 | 335 | 438 | dan | 372 | 4ss | 48
10 10 39 49 1 39 49 | 55
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Fig 5.5 The effect of changes in MP and AP on
MC and AVC

Production and costs in the long-run

In the short-run, a firm has fixed capacity because
some of the inputs may be-fixed. In the long-run,
however, as all inputs are variable it is possible for the
firm to increase capacity. By adjusting capacity in the
long-run, the firm can minimize the cost of producing any
given level of output. The firm’s lo _long-run AC_ curve
shows the minimum AC of producing any given n level of
output. The long-run AC curve is known as an egy_cjgg\
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curve because it holds an infinite number of short-run AC.
&urves from below. T s

In the short-run we study returns to the variable
input, but in the long-run we study returns to scale of
production. Returns to scale refers to the effect that a
proportionate change in all inputs has on output. We may
distinguish between the three returns to scale.
a) Increasing returns to scale

It occurs when a certain percentage change in all

inputs causes a more than that percentage change in
output. For example, if all inputs are increased by 15
per cent and as the result ¢f this output grows by more
than 15 per cent there is increasing returns to scale.
This means that there is economies of scale.
b) Constant returns to scale
This is the situation where a given percentage
change in all inputs causes the same percentage
change in output. If all inputs are increased by 15 per
cent and as the consequence of this output grows by
the same 15 per cent there is constant returns to scale.
c) Decreasing returns to scale
This means that a certain percentage change in all
inputs causes a less than proportionate change in
output. Suppose all inputs are increased by 15 per cent
and as the result of this output increases by less than
that per cent. In this case there is decreasing returns to
scale which means that there is diseconomies of scale.
A firm aims to produce any given level of output in
the cheapest possible way. The combination of inputs
which minimizes the cost of producing any given level of
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output is known as the least-cost combination. With the
assumption that there are only two variable inputs (i.e.,
labor and capital) the least-cost combination is achieved
when the ratio of marginal product of labor (MP, ) and the
price of labor is exactly equal to the ratio of marginal
product capital (MPy) and the price of capital. That is:

MP,  MP;

P, P
When this condition is fulfilled the last money spent on
each input yields exactly the same return. Any change in |
the productivity or the price of an input will lead to input
substitution. For instance, other things equal, if the price
of capital falls the firm will cut back on its use of labor
and increases its use of capital. This input substitution
continues until the above equality is restored.
Explicit and implicit costs

Explicit costs are the money payments which a
firm makes to the outside suppliers of inputs to it. Implicit
costs are the costs of self-owned inputs. The sum of
explicit costs and implicit costs is known as economic
cost of production. The explicit costs of production are
accounting costs.
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of all factors of production is known as 10(long-
run / short-run). There are 11(some fixed

inputs / no fixed inputs) in the long-run. The volume of
production can be increased when 12(only

more inputs become available / more inputs become

available or when existing inputs yield higher output).

There are no 13(variable / fixed) inputs in the

long-run. The rate at which total product changes as an

additional unit of the variable input is employed is known

88 2t | 14(marginal / average) product.

15(MP / MC) is the rate at which total cost changes as

output changes. 16(Variable / Fixed) costs

are still incurred in the short-run even if the firm produces

no output. 17(MC / AC) is the change in total

cost when one more unit is produced. The sum of MC of
producing eagh_gnit equals 18(TFC / TYCjof
production. When a firm experiences increasing mgrgindl

returns, MP 19(falls / r&és) and MC

20(falls / rises). 21(To!_aLp:9duct / Average

product) is the total physical 6utput produced by a
154



particular set of inputs at any time period. If a firm uses
two times more of all inputs to produce three times as
much output the production exhibits
22(decreasing / increasing) returns to scale.
23(Op[lmrtunity / Prii-l;e) cost.refers to a lost or foregone

alternative which a firm did not choose when it decided

what to produce. Firms do not pay _ 24(fixed /
opp_on;_]%gi) cost. 25(Prime / Marginal) cost

is also known as variable cost when it includes

26(administrative cost / depreciation).

27(Marginal / Overhead) cost is that which is incurred
by a producer who wants to increase output by one more

unit from a previous given output.

True/False . ‘
1. Changes in all inputs is not possible in the shon-mnc

2. Fixed costs are incurred on variable inputs. @ '

3. When a firm experiences dimi_nishi_ng marginal returns,@
MP rises.

4. When a firm experiences diminishing returns MC falls@

5. AC curve is pierced by the MC at its minimum point.
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2.Show the correct statement.

)The, MP curve highest point comes before that of

 the AP i
B) The AP curve highest point comes before that of
the MP . Mg

c) The AP and MP curves reach their respective
highest points at the same time

d) Stage III is the rational stage of production / 0
3. Which of the following statements is wrong? é& \
(a) When MP equals zero total product reaches itss LS
minimum

b) When total product decreases MP is negative -
In stage [ the fixed input is underutilized
d) In the long-run, all inputs are variable -
4. When the short-run MP of labor is less than the AP of
labor: '
a) APy is increasing .
b) AP, is equal to zero Py LA )
<) AP, is decreasing
d) none of the above o
5. In stage III for labor: \.f’J
a) MP, is negative
b) TP is decreasing
c) There is a very high variable input-output ratio
d) All of the above
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6. In stage I:
_a) APy increases’
)b) MP, either increases or decreases
¢) MP; reaches it maximum
@All of the above
7. The rational stage of production:
a) is between the origin and the highest point of the
AP
b) starts at the maximum TP and continues to the
negative MP,
c)\is between the maximum AP and the zero MP,
is between the origin and the zero MP

8. Which of the following statements is not true?
7a)In stage Il MP is negative }
b) In the short-run, a firm can change its ou_thut_by
adding variable inputs on a fixed input ~—
c¢) Diminishing returns would set in, once the full —
productive potential of a fixed input is exhausted
d) Diminishing returns are reflected in falling MP of~__
a variable input
9. Which of the following is a short-run phenomenon?
\*‘N a) Returns to scale
' ‘b)Returns to an input- |
¢) No fixed input 1“4 .
g conomies of scale [v} "
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_ : Aok
10. Marginal cost is always equal to: o ?/ 95 &
a) AFC ik
b) Total cost minus total fixed cost
CE/TThe change'in TVC as output changes by one e
unit fiees
d) The average cost of the last unit produced
LE cost always dec&‘Eases but never becomes

Zero. - N
a) AVC ¢) TVC \/
by AFC d) None of the above
12. Which of the following statements is wrong?
_—a) TFC curve is downward sloping *_
@\FC curve never touches the horizontal axis ~
c) TC curve takes the shape of TVC curve’"
d) AFC continuously decreases<—
13.Which of the following does not change in the short-
run?
a) AFC ¢) TVC Myl
b) TFC d)aandb
14. Which of the following statements is wrong?
mith an increase in output AFC "always decreases %
b) When AP is at its maximum AVC isatits =
°  minimum «
c) The MC curve intersects the AC curve from below
when AC curve is at its minimum N

d) In the long-run cost can be either fixed or variable —
vy | AL

i

".FC - _,,-'*’”
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15. Show the correct statement.
a) In the long-run, TC equals TVC
7 'b) TC equals average cost multlphed by total output
¢cy'When there is no production TC equals TFC -
d) All of the above
16. Which of the following statements is true?
a) The short-run AC curve is U-shaped —
b) The highest possible loss a firm can make in the
short-run is its(TFC -
¢) The TFC curve is always downward sloping
d)aand b
17. Indicate the wrong statement.
a) Fixed costs are independent of the level of output™
b) As long as the MC curve is below the AVC curve,
AVC curve falls, -7 "
he law of diminishing marginal returns starts to
operate when MP) is negative >~
d) None of the above ‘
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Matching
Column A

L
. Fixed cosi

BN

— \D 00 ~J O\ Lh

Variable Lot ¢,

i

. Long-run 4
. Diminishing

returns

. Explicit cost 4
. Short-run v~
.MP=AP K
.MP<AP ¢

MP £

0. MP falls

I“P =D Tf

Column B
a) Inputs are divided into fixed
and variable
b) Total product increasgs at a
diminishing rate
“c) AP decreases
d) It is possible for firms to
increase ¢apacity
e) The rate of change of total
product
- f) The out-of-pocket
expenditure on inputs
. g) Incurred on variable input
+ h) The highest point on
the AP curve
1) Successive equal increase in
inputs yield smaller and
smaller increase in output
j) Incurred even when the firm’s
output is zero

T4
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8. Why does the total variable cost curve start from the
origin?

9. Identify the wrong statements and provide the right
statements.
9.1 Stage III is the rational stage of production.

9.2 When marginal product is at its maximum total
product equals zero.

9.3 When marginal product is negative total product
decreases.

9.4 After the highest point on the average product curve,
marginal product is greater than average product.

9.5 Fixed costs are those which do not vary with the
level of output produced.
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9.6 The total fixed cost curve continuously decreases but
never touches the horizontal axis.

9.7 So far AFC and AVC decrease AC also decreases.

9.8 When the MC curve is below the AC curve, the AC

curve rises.

9.9 When output changes, the change in the TVC will be
less than the change in the TC.

9.10 When a firm earns zero economic profit it does not
cover its total opportunity cost.

9.11 When MP increases MC also increases.
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Answer

Programmed review activities

O 00Oy BN —

Production

. Variable

. Fixed

. short-run

. production

. profits

. short-run

. diminishing returns to variable input

. creation of goods and to the supply of services

. long-run

. no fixed inputs

. more inputs become available or when existing inputs
yield higher output

. fixed

. marginal

. MC

. Fixed costs

.MC

. INC

. Tises

. falls

. Total product

. increasing returns

. Opportunity

. opportunity cost

. Prime

. administrative cost

. Marginal
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9. b) Returns to an input

10. ¢) The change in TVC as output changes by one unit

11. b) AFC

12. a) TFC curve is downward sloping

13.b) TFC

14. d) In the long-run, cost can be either fixed or variable !

15. d) All of the above

16.d)aand b :

17. ¢) The law of diminishing marginal returns starts to i
operate when MP; is negative

{

\

18.2) 6 |
19. b) after 3 units of the input are used 3N
20.¢) 7
21.b) 7
22.¢)6

23. b) the AFC curve

Matching

1. g) Incurred on variable input

2. j) Incurred even when the firm’s output is zero:

3. d) It is possible for firms to increase capacity

4. 1) Successive equal increase in inputs yield smaller and
smaller increase in output

5. f) The out-of-pocket expenditure on inputs

6. a) Inputs are divided into fixed and variable

7. h) The highest point on the AP curve

8. c) AP decreases

9. ) The rate of change of total product

10. b) Total product increases at a diminishing rate
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Chapter 6

6.1 Perfectly Competitive Market

Perfect competition is a theoretical modgl-which is
based upon price_competition. A market is said to be
perfectly competitive when a buyer and/or a seller
beliqves__ that his/her own indMor Pyo
influence on market price. Conditions for the existence of
perfect competition. ‘

a) There are many buyers and sellers so that individually
they are powerless to influence market demand or
market supply K

b) Each of the firms in the industry supplies exactly the
same product. .- i

c) There is perfect knowledge of market conditions

among buyers and sellers. |
d) There is no restriction to the entry of firms into the
industry or their exit from it. |

Under perfect competition, the interaction of the

market supply and demand determines the ma‘rlgq_t_gricc

for the industry. Each firm in the industry takes the price
173
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determined by the industry force of supply and demand as
given and sells its entire output at the same price (see
-Fig.6.1). Thus, the demand curve for the firm under
perfect competition is horizontal, at the constant price.

Total revenue (TR) is the product of the price that a
firm charges and the quantity of output it sells at this
price. i.e.,

TR=PxQ

Marginal revenue (MR) is the extra revenue

obtained when quantity sold is increased by one unit. i.e.,

MR = ATR

AQ
Where ATR is change in total revenue

AQis change in quantity.
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Profit-maximization

Profit-maximization is a popular objective of
business firms. Profit is the difference between total sales
revenue and total cost. A producer makes investment in
an industry and stays there only when there is normal
profit. Normal profit is the minimum profit in the
industry, and it is considered as cgst in_economics. The
profit greater than the normal profit is known as
economic or surplus profit. Economic profit is not
regarded as cost.

The profit-maximizing level of output (i.e.,
producer equilibrium) can be explained in terms of: total
revenue and total cost; and marginal revenue and
marginal cost.

Total condition of profit-maximization

In the total revenue-Total cost approach, a firm is
in equilibrium when its total profit (][) is the maximum.
That is, [ =TR-TC is the maximum. The output produced
at the level when the difference between total revenue and

total cost is the maximum is known as the profit-
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maximizing level of output or the optimal output. The
output level at which total revenue equals total cost (i.e.,
total profit equals zero) is known as the break-even
output.

Marginal condition of profit-maximization

In the marginal revenue-marginal cost approach,
profit is maximized at the level of output where marginal

revenue equals marginal cost (MC) and MC curve

- - - 5,
intersects the marginal revenue curve from below at that

point. When MR > MC, profit can be increased by
increasing output. When MR < MC, profit can be
increased by reducing output. ,

Earlier, we said that for a firm under perfect
competition P = MR = AR. It follows that at the short-run
profit-maximizing level of outputffl_,'-vIR =AR =MC‘\

In the short-run, an individ;;l firm under perfect

competition may make normal profit, excess profit, or

loss. In the long-run, however, all firms earn only normal
profit and produce at mlmmum AC (ATC). The long-run

equilibrium of a perfectly competltwe firm, therefore, is
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to be found where MR = AR = MC = AC. Here, not only
the firm but also the industry is in equilibrium.
Derivation of the supply curve of a firm

In Fig.6.2a at point B, P, = MC = ATC which
means that the firm will be making only normal profit.
Point B is the break-even point. If price decreases below
P,, the firm will be making loss because price will be less
ti’lan AC. In the short-run, the firm may continue to
supply even when price is less than AC provided it is
above the AVC (at point A). Point A is known s the
shut-down point. Therefore, the ségzt:run supply curve of
the perfectly competitive firm is that part of the MC curve
which lies above the AVC. _
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The market supply curve for a good is obtained by ,j: L
adding together the supply .curves of .all the firms ]
producing the good. Since each ﬁ;Tn’s supply curve is its
MC curve above the intersection with the short-run AVC
curve, the market supply curve is the horizontal sum of

the MC curves of the firms comprising the industry.
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6.2 Monopoly

A pure monopoly concerns the existence of a single
seller of a good for which there is no close substitute.
Characteristics of monopoly
a) There is only one seller.

b) The product is unique.

c¢) The monopolist is a price-maker.

d) The existence of barriers to entry into the market.
e) There may or may not be advertisement.

The demand curve for a monopoly firm is
.clownward sloping. The elasticity of demand for the
monopoly firm is significantly less than that of a
competitive firm. A lower elasticity of demand means
that the firm’s maximum profit will be earned at a higher
price than when there is competition. Faced with a
downward sloping demand curve, a monqﬂqu has
the power to determine either price or quantity. But, it
cannot determine both price and quantity at the same
time.

Unlike the firm under perfect competition:
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6.3 Monopolistic competition

Monopolistic competition is a market structure in
which many sellers compete to sell a differentiated
product.
Characteristics
a) Many sellers and buyers, ~
b) Product differentiation, &
c) Free entry and exit, ~
d) No collusion. ~

The demand curve a monopolistically competitive
firm faces is downward sloping like that of a pure
monopolist. But the demand curve for a monopolistically
competitive firm is much more elastic than for the pure
monopoly firm.
6.4 Oligopoly

Oligopoly is a market structure where a few sellers
dominate the industry. L
Characteristics
a) Barriers to entry,

b) Few sellers,
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¢) Recognized mutual interdependence,
d) Products are either identical or differentiated.
Oligopolists have a common interest in setting
prices so that monopoly profits are made and an
individual interest in attempting to get the maximum
possible profit. A group of firms acting together to
determine price and output decisions is known as cartel.
An oligopoly with no collusion faces a kinked demand
curve. The kinked demand curve suggests that if an
individual oligopolist raises price above the price
corresponding to the kink point other firms will not
follow it. On the other hand, a price cut by an individual

oligopolist may be matched by rival firms.

Comparison of the various market forms

Market form Number of | Type of
sellers product
Perfect competition Many Identical ~
Pure monopoly Single -
Monopolistic competition Many -~ Differentiated
Oligopoly Few Identical or
- differentiated
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Market form Price Output
Perfect competition At minimum long- At minimum
' run ATC point of ATC
Pure monopoly Greater than To the left of

minimum ATC

minimum point
of ATC

Monopolistic

Greater than

To the left of

competition minimum ATC minimum point
of ATC
Oligopoly Greater than To the left of
minimum ATC minimum point
of ATC
Market form Profit Efficiency
Perfect competition Zero economic profit | Peak efficiency
Pure monopoly Makes economic Less than peak
profit efficiency
Monopolistic Zero economic profit | Less than peak
competition efficiency
Oligopoly Makes economic Less than peak
profit efficiency
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Activities

Programmed review activity

7 1(Monopoly / Perfect _c_onlpetititm) is a
market where no single buyer or seller can exercise any
influence on the market price and there is no government
role in the market. A product is identical under
2(perfect compeg_itionk/ monopolistic competition). In
the long-run, the perfect competitor’s price is equal to the
____ 3(minimum / maximum) on the firm’s ATC

carve. A monopolist’s product has 4(close

substitutes / no close substitutes). A monopolistically

competitive firm has S5(few / many) firms
selling  6(an identical / a differentiated) product. If
the conditions of perfect competition are fulfilled
competition will give rise to 7(one / variable)
market price. Under 8(monopoly / perfect

competition) variations in an individual firm’s output
will have no influence on the price at which it sells its
product. An oligopoly firm works at 9(peak /
less than peak) efficiency. The monopolist’s .pri-ce 1S

10(greater / less) than the perfect competitor’s.
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Oligopoly is an industry with 11(many / few)
sellers. Under  12(monopolistic competition /
perfect competition) buyers are indifferent from whom
they buy because all inputs of the good are homogeneous.
The firm under perfect competition is known as a

13(price-ﬁ1aker / price-t*faker). For a perfectly

competitive firm at output levels when MR>MC
expansion of output adds more to 14(total cost
than it does to total revenue / total revenue than it
does to total cost). When MR>MC total profit can be
increased by 15(expanding / reducing) output.
Average revenue minus average cost equals
16(avenage profit / total profit) and this multiplied by
output gives 17(average / total profit).The
industry is in long-run equilibrium when price has fallen
to the extent that all firms in the industry earn
18(only normal / economic) profit. If total revenue is
greater than total variable cost, then, the firm will be
better off by  19(ceasing production altogether /

continuing in production). In the short-run, the
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minimum acceptable price, if the firm is to undertake
production, is that price which exactly equals the
minimum short-run 20(ATC / AVC) of
production. 21(Pure monopoly / Oligopoly)
exists when supply of a particular good or service is in the
hands of a single seller. Because an oligopoly firm
perceivesdemand tobe ~ 22(elastic / inelastic) if it
raises price and relatively -_23(elastic / inelastic) if
it decreases price, it perceives its demand curve to be

24(horizontal / kinked) at the ruling market
price. Because an oligopol; firm perceives its demand
curve to be kinked, it hasa  25(a continuously
straight line / discontinues) MR curve. It is profitable to
produce  26(less / more) quantity if it adds more
to the firm’s revenue thantoitscost. ~ 27(MR/ AR)
is another name for price. Under monopoly marginal

revenue is always 28(greater / less) than price.

In the long-run, a perfectly competitive firm’s

equilibrium position is at the place where its long-run

average cost equals 29(price / total cost). A
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monopolist’s demand curvé is 30(different
from / the same as) that of the industry. Under
monopolistic competition, the theory suggests that
31(less / more) will be produced at a

32(lower / higher) price than under perfect competition.
It is difficult to compare perfect competition with
monopolistic competition because the product is
33(identical / differentiated) under perfect
competition but 34(identical / differentiated)
under monopolistic competition. According to the kinked
oligopoly demand curve, a firm thinks that if it lowers its
price its rivals will _ 35(raise / lower) their prices.
In the short-run, if a perfectly competitive firm is able to
just cover its 36(variable / fixed) costs, it will
continue production because it will have to bear the
37(variable / fixed) costs even if it stops

producing its product. Under perfect competition, at
equilibrium position, price divided by marginal cost
38(eq:1_als / is greater than) one. The

39(sellers’ / buyers’) behavior i1s described by
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the demand curve and the sellers’ by the
40(demand / supply) curve. If demand is constant but
supply increases because of a  4I(rise / fall) in
cost, then the new equilibrium price would be
42(higher / lower) and the new equilibrium quantity
would be 43(lower / greater) because this shift
causes a 44(rightward / leftward) movement of
the supply curve. In this case, the relative magnitudes of
the price and quantity changes will depend upon the
elasticity of demand betweenthetwo ~ 45(supply /
demand) curves. The more 46(inel_as‘tic /
elastic) is the demand curve, the more will a change in
supply 47(decrease / increase) price and the
48(more / less) will it _ 49(increase /
reduce) quantity. The elasticity of a monopolist’s
demand curve is much __ 50(higher / lower) than
that of a perfectly competitive firm and lower elasticity of
demand meansa ___ 51(lower / higher) price relative
to marginal cost. The product of a monopoly firm will be

sold with a very 52 (high / low) MC ratio.
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True/False

1. When the price of a good is below the equilibrium
price, there is excess supply.

2. The influence of any particular firm on the price of its
product depends largely upon the number of
competing firms in the industry and the type of
product sold.

3. If supply is greater than demand, there will be pressure
for the price to fall.

4. The monopolist’s power is unlimited because he/she
can determine both price and quantity at the same
time.

5. Under perfect competition, an equilibrium price is one
where P=MC.

6. The demand curve for a firm under perfect competition
is downward sloping.

7. A change in demand means that at each price a
different amount is now demanded than before the

change.
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8. The degree to which P and Q change after a change in
demand will depend on the elasticity of demand.

9. If the supply curve is very inelastic, a given increase in
demand will cause a greater increase in quantity than
if supply is very elastic.

10. A lower elasticity of demand means that the firm’s
maximum profit will be eamed at a higher price than
when there is competition.

11. A monopoly firm’s MC curve above the intersection
with its AVC curve is its supply curve.

12. The demand curve for the product of a monopclist is
the same as the demand curve for the industry.

13. In the momentary time, supply curve is horizontal.

14. The minimum acceptable long-run price is that price
which equals the minimum ATC of production.

15. Under monopoly, the sale of an additional unit
increases total revenue by the price of that unit. = Mk

16. In economics, nérmal profit is not considered as cost.

17. The concept of a supply curve is not valid for a

monopoly.
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18. If a good has a close substitute, it is very likely that
the demand for it will be inelastic.

19. When MR<MC, a reduction in output will reduce
total cost by more than it reduces total revenue so that
total profit will rise.

20. In the momentary time, supply curve is horizontal.

21. In the short-run, firms are obliged to meet their
variable costs whether they undertake production or
not.

22. At equilibrium position, price equals MC under
perfect competition.

23. If total revenue is less than TVC, the firm will be
better off by continuing in production.

24. In the short-run, equilibrium price under perfect
competition may be above or below average cost.

25. MR is another name for price.

26. Under perfect competition, a firm can produce a
some-what different good from other firms in its

industry.
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27. At a ssitive level of output, if price equals MR,
demand is perfectly elastic.

28. The supply of a monopolist is non-existent.

29. All markets with many sellers and many buyers are

perfectly competitive. ,r

Multiple choice

1. While a perfect competitor equates price and marginal
cost to maximize profit, a monopolist should equate:
a) price and total cost
b) price and marginal cost
c) total revenue and total cost
d) marginal revenue and marginal cost ~~

2. If a perfectly competitive firm is operating at an output
where MR is birr 15 and MC is birr 10 to maximize
profit it should:
a) produce more
b) produce less
c) keep output constant

d) none of the above
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3. With a constant upward sloping supply curve, if
demand curve shifts its position to the right
equilibrium price:

a) decreases
b) remains the same
¢) increases .~
d) none of the above
4. A monopoly firm expands output when:
a) MC is greater than MR
b) MR is greater than MC-
c) MR equals MC
d)-MR is negative
5. Which of the following is true?
a) Perfect competition cannot be realistically expected
to exist in totality in every day life
b) A perfectly competitive firm is a price-setter
c¢) Under oligopolistic market structure there are many
buyers and sellers

d) all of the above -
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8. For a firm under perfect competition, the profit-
maximizing level of output is at:
a) any point where MR<MC
b) the equality of the rising MC curve and the constant
MR curve
c) the equality of price and MC
d)ybandc ..
9. Choose the correct statement.

a) The monopolist can get economic profit in the
long-run because barriers prevent new firms
entering the industry

b) When demand is unitary elastic MR=0

c¢) The monopolist charges a price greater than MC

d) all of the above
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Matching

Column A

1.

S W

Short-answer questions

Perfect competition

. Break-even point
. Shut-down point
. A kinked demand

curve

. TR<TC
. AR>AC
. Oligopoly

. Monopolistic

competition

. Pure monopoly

Column B
a) Loss
b) The firm and the industry are
identical
c) A firm earns economic profit
d) P=AVC
e) P=MR=AR
f) Product differentiation
g) A high degree of
interdependence -
h) Oligopoly with no collusion
1).P=ATC

1. Is economic profit greater than accounting profit?
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6. Some of the following statements are wrong. Identify
them and provide the right statements.

6.1 If a firm produces the quantity of output at which
MR=MC it always earns profit.

6.2 The break-even point during a production process is
the level of output at which the firm earns economic

profit.

6.3 MR for the n™ unit is determined by the difference
between the total revenue obtained from n units and

the total revenue obtained from (n-1) units.
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9. Why only the firm’s MC curve above the intersection
with the AVC curve is its supply curve, instead of the

entire MC curve?

10. Why is the concept of supply curve not valid for

monopoly

11. Mention three characteristic features of monopolistic

competition.

12. Define oligopoly.
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.Answer
Programmed review activity
1. Perfect competition
. Perfect competition
. minimum
. no close substitute
. many
. a differentiated
. one

. perfect competition

O 00 =1 o W B W N

. less than peak

.._.
=y

. greater

[o—y
[e—y

. few

—
(3]

. perfect competition

f—
=)

. price-taker

. total revenue than it does to total cost

o
v A

. expanding

=
(o)}

. average profit

—
]

. total profit

—_—
o0

. only normal
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29R
26. F
AT
28.T
29.F

Multiple choice

1

(O T - LS N S

8.
2

. d) marginal revenue and marginal cost
. a) produce more

. C) increases

. b) MR is greater than MC

. a) perfect competition cannot be realistically expected

to exist in totality in every day life

.d)bandc

. ¢) less elastic for price reductions than for price

increases
d)bandc
d) All of the above

10.d)band c
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Matching

1. e) P=MR=AR

2.1) P=ATC

3.d) P=AVC

4. h) Oligopoly with no collusion

5. a) Loss

6. c) A firm earns economic profit

7. g) A high degree of interdependence

8. f) Product differentiation

9. b) The firm and the industry are identical

Short-answer questions

1. No because:

- economic profit s obtained by subtracting the sum of
explicit cost and implicit cost from total revenue
but

- accounting profit is the differ?nce between total
revenue tEmd explicit cost.

2. Total reverfue (TR) = R.x ([2

g5 p
0
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3. Many buyers and sellers, identical product, free entry
and exit, perfect knowledge.

4, The demand curve is obtained by plotting the price and
quantity demanded pairs of data. The MR curve, on
the other hand, is obtained by plotting the MR and
quantity demanded pairs of data. But, under perfect
competition price equals MR. Therefore, the two
curves are the same.

5. MR equals AR at the highest point of the AR curve.

6. '

6.1 If a firm produces the quantity of output at which
MR=MC, it can earn profit only if price is greater than
average cost. '

6.2 The break-even point during a production process is
the level of output at which the firm suffers no losses
and also earns no profit.

6.4 Under perfect competition, the demand curve for a
firm is horizontal but the demand curve for the

industry is downward sloping.
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6.6 The market supply curve is the horizontal summation
of the individual firms’ supply curves.

6.7 Under monopoly MR is less than price.

6.8 Price discrimination is a situation of charging
different consumers different prices for the same
product, with the same cost.

7. If the firm can cover at least its variable cost of
production from the sales revenue it should continue
to produce, in the short-run. If price is less than the
AVC, the firm can’t cover its TVC and hence it should
shut-down. Therefore, the firm decides whether to
continue in production or not by comparing the price
at which it sells the good and its AVC.

8. Legal restriction, natural factor endowment, high entry
costs, patent.

9. If price decreases below the AVC the firm the firm will
not continue in production and hence the portion of
the MC curve that is below the AVC curve is not

relevant to production.
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country. The net difference between income inflow (Y;)
and income outflow (Yo) is known as net property
income from abroad. The relationship between GDP and
GNP is as follows:

GNP = GDP + (Y - Yo)

If net property income from abroad is positive,
GNP>GDP. If net property income from abroad is
ne;gative GNP<GDP. If net property income from abroad
is zero, GNP=GDP.

There are also other measures of the performance
of the economy, like Net National Product (NNP),
National income (NY), Personal Income (PY), and
Personal Disposable Income (PDY).

NNP = GNP — Depreciation (D)

NY = NNP - IBT + S

PY =NY - (UCP + CYT + SSC) + TP

PDY =PY - PYT
Where IBT- Indirect business tax,

S- Subsidy
UCP- Undistributed corporate profit
214 _






National output is composed of a vast range of
different goods and services whose quantities cannot be
added together in physical units. Therefore, all the goods
and services are multiplied by their respective market
prices and then the product is added up. Hence, GNP is
the market value of annual output. Difficulties arise for
goods and services which have no market price. Public
services and self-provided goods and services have no
market price which makes their inclusion in the national
income difficult.

Income approach
In this approach, national income is measured by
adding up-all the incomes paid to factors of production
used in producing the national output. In the income
approach:

GDP=W +R + 11+ Pr

GNP=W+R+It+Pr+Y;-Yo
Where W- Wages and salaries,

R- Rents,

It - Interest,
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Pt— Profit.

Transfer payments are not included in the national
income. Transfer payments represent payments by the
government to individuals not because of their
contribution to the production of the current nation_‘al
output but because of the social security conventions.

Expenditure approach

In this approach, national income is found by
summing up all the spending on the final goods and
services in the economy. In the expenditure approach:
a) in a closed economy:

GNP=GDP=C+1+G
b) in an open economy:

GDP=C+I1+G+NE gt

GNP= C+I+G+NE+Y;-Yo

J

Where C- Consumption expenditure,
I- Investment by the private sector,

G- Government expenditure on goods and services,

cRoPL™

NE- Net export.
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7.3 Nominal and Real National Income

If the physical outputs produced during a given
year are measured in terms of the prices of the same year,
the national income is known as nominal GNP.
Apparently, GNP changes with a change in the physical
outputs or a change in the general price level or a change
in both. But, what society needs is the rise in physical
output because it is real output that determines the
standard of living. Real national income is derived by

deflating the nominal GNP

: Nominal national income
Real national income = — x100
Price index

7.4 National Income and Economic Welfare

There is no way of obtaining a précise
measurement of the standard of living because so many
different things affect the welfare of human beings. The
most widely used statistics for measuring changes in a
country’s standard of living is national income per head
(i.e., per capita income). Even though national income is

used as a basis for estimating the standard of living it has
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limitations as a measure of the standard of living. This is
so because national income usually includes some items
that ought to be excluded from the standard of living
measure while it excludes certain items that ought to
included in it. Net Economic Welfare (NEW) better
reflects the standard of living.

NEW is based upon national income but makes
some plus and minus adjustments. The plus adjustments
are the value of non-marketed goods, and the value of
leisure. The minus adjustment is the cost of

environmental damage.
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Activities

Programmed review activities

National income is defined as a 1 (stock /
flow)of output. National income isthe 2 (money
value of total / sum of total physical) output.
3(GNP / GDP) takes account” of the fact that some
residents of the country earn incomes from owning
resources located abroad. The sum of 4(factor
incomes / personal incomes) includes transfer payments.
Second-hand goods are S5(part / not part) of
the current flow of output, and factors of production have
already received payment for these goods at the time they
were produced. Any income earned by a salesperson
employed in the second-hand trade is
6(included / not included) in the national income
statistics. The service rendered in the second-hand goods
trade is 7(not a part / a part) of current
production. The value of total output produced by

nationally-owned resources whether they are located at
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home or abroad is known as 8(GNP / GDP).
GNP does not include all final output that satisfies
economic desires but only that which is considered
9(illegal / legal). The services of a housewife
10(enter / don’t enter) the GNP. A man who

marries his maid I1(reduces / increases)
GNP. Government payments that don’t buy current
output are 12(omitted / included) in the
measure of personal income. Payments to buy already
existing goods 13(are / are not) treated as part
of the GNP. By subtracting capital consumption

allowance from GNP, we get 14(national

income / net national product).
15(Transfer payments / factor payments) produce

neither output nor factor income.

True/False

1. The sum of all factor incomes are the same as the sum

of all personal incomes.
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2. When we measure national income, we are measuring
the flow of output over a period of time.

3. Nominal per capita income is the best measure of the
standard of living.

4. In a closed economy GNP=GDPY |

5. Government payments that don’t buy current output are
omitted in counting GNP.

6. The value of output produced by factors of production
located within a country is known as GNP.

7. The profits of second-hand dealers are not included in
the national income.

8. Inflation will lead to a higher money value irrespective
of whether the volume of output has increased.

9. Transfer payments are included in GNP but not in
personal income. '

10. Summing up the value added at each stage of
production involves double counting.

11. The value of intermediate goods is not included in the

national income.
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12. In the expenditure approach of national income
determination, only expenditure on current output is
relevant.

Multiple choice

1. Choose the correct statement.

a) Nominal GNP is national income adjusted for
inflation

b) The cost of environmental damage caused by
economic activities is a negative adjustment to
national income

c¢) The per capita income equals GNP minus
depreciation

d) Personal income equals GNP minus depreciation

2. Which of the following is the highest?

a) GNP -- ¢) Personal income

b) NNP d) Depreciation

cont &
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3. GNP measures:
a) the total stock of a country’s wealth adjusted for
changes in prices
b) the total annual output of all the producers in the
economy excluding intermediate goods
c) the total yearly value of a country’s output after
allowance has been made for taxes
d) the total annual value of a country’s output after
allowance has been made for depreciation
4. Which of the following is not an element of GNP in
the income approach?
a) Investment expenditure COR Y 11’
b) Wages and salaries
c) Rents-

d) Profits
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5. When NEW is determined which one of the following
is a positive adjustment to GNP?
a) Health hazards that ensue from production
b) The value of leisure
¢) The value of non-marketed goods
d)b andc
6. In order to derive personal income from national
income, the national income must be adjusted by:
a) subtracting corporate income tax
b) subtracting undistributed corporate profit
c¢) adding transfer payments
d) all of the above
7. In measuring GNP, double counting can be avoided by:
a) measuring the value of intermediate goods
b) measuring only the total value of output sold to
the government and investors
¢) measuring the value added by all firms
d) measuring only the value of output sold to final

users and to intermediate users
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Matching

Column A

1. NNP

2. No market value
3. Transfer payments
4, GNP<GDP

5. Real GNP

6. Open economy

7. Per capita income

8. Depreciation

Column B

a) Derived by deflating the
nominal GNP

b) Government payments that
don’t buy current output

c) Capital consumption
allowance

d) National income divided by
total population

e) Output of self-provided
goods and services

f) GDP minus depreciation

g) GDP=C+I+G+NE

h) Negative net property income

from abroad
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3

4.
3
6.
i

b) the total annual output of all the producers in the
economy excluding intermediate goods

a) Investment expenditure

d)bandc

d) all of the above

c) measuring the value added by all firms

Matching

1

(%]

. f) GDP minus depreciation
i

. b) Government payments that do not buy current

e) Output of self-provided goods and services

output

. h) negative net property income from abroad

. a) Derived by deflating nominal GNP

. g) GDP = C+I[+G+NE

. d) National income divided by total population

. ¢) Capital consumption allowance
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Short-answer questions

|. The equality of GNP and net national product indicates
that depreciation equals zero.

2. The word ‘Gross’ in the GNP indicates that
depreciation has not been deducted from the value of
total output.

3. No because:

GNP = GDP + net property income from abroad
When net property income from abroad is negative
GNP less than GDP.

4.

4.1 GNP is the market value of all the physically
different goods and services.

4.2 The rise in the nominal GDP doesn’t necessarily
imply that the real GDP rises.

4.3 In n open economy:

GDP = C + I +G + export — import

4.4 The part of the corporate profit retained by the firm

for capital formation or to meet any unforesecable

needs is known as undistributed corporate profit.
233






Chapter 8

8.1 The Consumption Function

Consumption (C) is that part of the disposable
income (Y,) devoted to the purchase of consumer goods
and services. Since income is either spent or saved,
saving (S) is that part of the disposable income which is
not spent on consumer goods and services. Thus,

Ya=C+S

Propensities to consume and save

Marginal propensity to consume (MPC) refers to

the extent to which additional income is used for

consumption.

AC
AY,

MPC =

Where AC- Change in consumption
AY 4— Change in disposable income
MPC lies bétween zero and one.
Average propensity to consume (APC) is equal to
total consumption divided by total disposable income .
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V= i
(1+i5)"

Where F- The future value of a sum

i- interest rate

n- The number of years
If the NPV >0, the project is regarded as profitable.
c¢) The internai rate of return (r)

The internal rate of return of a project is the
discount rate at which the present values of the expected
income flow during its life-span equals its investment
cost. If r>1 the investment project is accepted.
Determinants of investment:

a) interest rate

b) the expected income flow from investment
c) the cost and productivity of capital goods
d) expectation

e) level of income
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Activities

Programmed review activities
In economics, investment includes expenditure on
I(stocks or bonds / machinery and
equipments) but doesn’t include 2(a firm’s
purchase of used capital goods / inventories). If a firm
is neither expanding nor contracting it will have the

investment expenditure which is known as

3(net investment / replacement investment). The
change in consumption caused by a change in income is
known as 4(MPS / MPC).

5(Autonomous / Induced) consumption expenditure is

independent of the current income. If disposable income
equals zero 6(induced / autonomous)
consumption equals 7(100 / 0) and hence

8(autonomous / induced) consumption

equals total consumption.
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10. High interest rate discourages business persons from

making more investment.

Multiple choice

1. The consumption function shows the relationship
between consumption expenditure and the level of:
a) personal income
b) disposable income
c¢) national income
d) GNP

2.The MPC shows:
a) the relationship between consumption and the level

of income

b) the relationship between consumption and savings
c) the ratio of consumption to income
d) the change in consumption that results from a one

birr ¢change in income
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3. Gross investment spending includes:

a) expenditures for new housing construction but only
when the construction is done by business firms for
profits

b) expenditure for all construction and equipment,
whether new or used

c) expenditure for securities

d) all of the above

4. Which of the following statements is not true?

a) The amount of investment necessary to maintain
the size of the country‘s capital stock is called
net investment

b) The amount of investment necessary to maintain
the size of the country’s capital stock is called
gross investmet}t

c) Investment includes the purchase of corporate
bonds but not of government bonds

d) all of the above
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Short-answer questions

1. What is autonomous consumption?

2. When will selection of a project on the criterion of pay-

back period have meaning?

3. Identify the wrong statements and provide their correct
form.
3.1 The consumption function reveals a negative

relationship between consumption and income.

3.2 The ratio of the change in consumption expenditure
and the change in disposable income is known as

APC.
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Chapter 9

9.1 Business Cycles

Periodic fluctuations in economic activities which
occur as the economy moves away from its trend path are
known as business cycle. The business cycle has four
phases. These are:
a) Peak

Peak is a period high employment, high level of

demand, and high degree of utilization of resources.

b) Recession

Recession is a period when economic activities
slow down.
c) Trough

Trough is a period of the lowest level of national
output in the business cycle.
d) Recovery

This is a period of rising aggregate demand,
expanding output levels and a falling rate of

unemployment. o
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9.2 Unemployment

The sum of the number of the population in the
working age with jobs and those who are actively seeking
job but failed to find it is known as the labor force. The
unemployed are those in the range of the working age
who are available for work and have actively sought
employment during the previous four weeks but unable to
get job at the existing wage. Only those who are
employed and unemployed are in the labor force. Not

every one in the working age without job is considered

unemployed.

National unemployment rate = Humber, of -employed x100
La!::or force

Types of unemployment

a) Frictional unemployment

It includes unemployment resulting from
seasonality, the process of voluntarily switching jobs etc.
b) Structural unemployment

This is unemployment‘which arises from a change
in the structure of demand for goods and services in an

economy. 252



c) Cyclical unemployment

Cyclical unemployment results from declines in
national output in periods of low economic activity
When cyclical unemployment is present, the economy is
not utilizing its labor force to the extent possible.

Frictional and structural unemployment are known
as normal unemployment. Normal unemployment is
unavoidable. But, cyclical unemployment which is
excessive unemployment is avoidable. When the
unemployment rate is no more than the normal
unemployment, there is full-employment.
9.3 Inflation

Inflation is a situation of continuously rising
general level of prices. The rate of inflation varies from
country to country. While some countries are able to hold
the rate of inflation at less than 10 per cent per annum
others may experience rate of inflation more than 100 per
cent per annum.

The use of price controls may prevent the rising

general level of prices. This is known as suppressed
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inflation. On the other hand, the situation when the rate at
which prices rise gets completely out of hand is known as
hyperinflation. Historical events evidence that ‘in
Germany in 1923, at one time, prices were doubling every
hour’ and in Hungary ‘in 1945 wages were increased at
the rate of 150 per cent per week and yet they still lagged
behind the rate at which prices were rising’.
Types of inflation
a) Demand-pull inflation

The cause of demand-pull inflation is the excess
demand at or close to full-employment.
b) Cost-push inflation

This describes a situation where the source of
upward pressure on prices is rising costs. It is caused by
all factors that decrease aggregate supply.,
Effects of anticipated inflation
a) Income redistribution effect

Inflation redistributes income away from fixed

income groups towards others living on flexible incomes.
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Inflation has also the tendency to benefit d?EEc_)rs and
harm creditors.
b) Effect on output and employment

For an economy producing below potential,
demand-pull inflation has an expansionary effect upon
output and employment.

Anticipated inflation leads to speculative practices
diverting resources from productive to unproductive
sphere which reduces the economy’s productive capacity.

Inflation can be measured by means of the general
price level. A price index compares the cost of a given
combination of goods and services for two or more
different years.

Cost of a market basket in a given year

Price index = x 100

Cost of the same market basket in the base year
The rate of inflation (R.1.) is determined as:

Price index in year 2 —Price index in year 1
e x

R.I. 100

Price index in year 1

-

Types of inflation

a) Consumer price index (CPI)

255



It measures the change in the average price of a
market basket of consumer goods and services. It
represents the consumption pattern of a typical
household. The CPI does not include capital goods,
exports, or items of government purchase. But, it includes
imported consumer goods.

b) Producer price index (PPI)

The FPI measures the price of products purchased
by producers. 1ts interpretation is similar to that of CPI.
c) Implicit GNP deflator

It is obtained by dividing nominal GNP by real
GNP and multiplying it by 100. Unlike CPI and PPI it is
not based upon a fixed market basket. A change in the
prices of imported goods will have no impact on the

implicit GNP deflator.
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Activities
Programmed review activities
During 1(trough / peak) unutilized
capacity gradually disappears and businessmen find it
difficult to raise production so easily by putting resources
to work. The price level is likely to fall 6nly if the
recession is 2(prolonged / a short-lived

affair). iy 3(Recovery / Trough) is

characterized b;f massive ugemploymsnt. During
4(recovery / depression) banks will have
surplus funds because no body is willing to take risk. The
S5(frictional / structural) unemployment

results from changes in technology.
6(Structural / Cyclical) unemployment affects the whole
economy rather than particular industries. When there is
full-employment there may be some unemployment but

that unemployment is no more than the

7(cyclical / normal) unemployment. The
8(cyclical / structural) unemployment is controllable.

Where inflation is 9(unanticipated /
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more 20(output / prices) than

21(output / prices) because the aggregate supply curve is
22(more / less) elastic. Cost-push inflation

comes from any factor that shifts the aggregate supply

curve to the 23(left / right). A worker who

is laid-off until business picks up again is an example of

24(frictional / cyclical) unemployment.

True/False

1.When prices rise real incomes fall.

2. If a person borrows birr 500 for one year and , during
the course of that year, prices increase by 10 per cent,
the borrower will be a loser.

3. In order for an increase in aggregate demand to cause
inflation, the economy must be operating at a close to
capacity.

4. An increa;e in profits will shift the supply curve to the
left, causing a price rise.

5. The shortage of factors of production will cause costs

and prices to rise.
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Matching

Column A

1. Massive unemployment
2. Frictional unemployment
3. Peak

4. Anticipated inflation

5. PPI

6. Suppressed inflation
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Column B

a) Price controls prevent
the rising general level
of prices

b) Leads to speculative
practices

¢) Unemployment caused

by the process of
voluntarly switching
jobs

d) Measures the prices of
capital goods

e) Demand deficiency
unemployment

f) High degree of

utilization of resources






Answer

Programmed review activities

O 00 N O b B W N =

P ek ek ek sk ek ek ek e
o 1] N W b W N = O

. peak

. prolonged
. Trough

. depression
. structural

. Cyclical

. normal

. cyclical

. unanticipated

. anticipated

. Consumer price index
SPP)

. PPI

. fixed

. creditors

. flexible

. debtors

. demand
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Multiple choice

1. ¢) Creditors and people on fixed income

2.d)aandb

3. d) All of the above

4. a) Inflation can be defined as a persistent rise in the
general price level

5. b) In order for demand-pull inflation to occur, it is
necessary that the economy be operating far below

capacity

Matching.

1. €) Demand deficiency unemployment

2. ¢) Unemployment caused by the process of voluntarily
switching jobs

3. f) High degree of utilization of resources

4. b) Leads to speculative practices

5. d) Measures the prices of capital goods

6. a) Price controls prevent the rising general level of

prices
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¢) natural disaster

In the long-run, however, aggregate supply changes
as a result of a change in the quantity and/or quality of
factors of production.

Shape of the aggregate supply curve

There is no consensus among economists regarding
the slope of the aggregate supply curve. Before the
1930°s, the prevailing economic theory was that of
classical economists. According to this theory the
economy itself has a self-correction mechanism that can
keep it working at full-employment most of the time, and
hence no need for government role. The classical model
is based on the assumption that wages and prices are
flexible downward.

After the depression 6f 1930°s, however, a new
economic theory (the Keynesian model) came into being.
In the Keynesian model, the main assumption is that
wages and prices are inflexible downward, at least in the
short-run. In the Keynesian model, instead of the self-

correction mechanism government policies to influence
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10.2 Instruments of Policy

There are a number of economic policies used to
... e economic stability. The following are among
sl
\ Fiscal policy

Fiscal policy is a deliberate manipulation of
government expenditure and taxation so as to achieve
desired economic and social objectives. A tax cut and rise
in government expenditure aimed at increasing aggregate
demand is known as an expansionary fiscal policy. A
contractionary fiscal policy is a policy aimed at
restraining aggregate demand by increasing tax and
reducing government expenditure.
b) Monetary policy

Monetary policy refers to actions taken by national
banks to manipulate either the supply of money or interest
rate to bring about desired changes in the economy. A
tight monetary policy involves a reduction in the growth
of the supply of money and/or an increase in the interest

rate. An easy monetary policy is a policy when the
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Activities
Programmed review activities
The aggregate demand curve slopes

1(upward / downward) from left to right. The two main
explanations to the downward sloping aggregate demand
curve are the 2(real balance effect /
substitution effect) and the 3(income effect /
interest rate effect). A tight monetary policy involves

4(a reduction / an increase) in the growth
of the supply of money and/or 5(a decrease /

an increase) in the interest rate.

True/False

1. The substitution effect explains the downward sloping
of the aggregate demand curve.

2. Inflation erodes the real value of assets.

3. If the economic agents are pessimistic about the future
aggregate demand increases.

4. A tax cut has an expansionary effect upon aggregate
demand.
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4. Which of the following is an expansionary fiscal
policy?
a) A fall in government expenditure
b) A rise in tax
c) A fall in supply of money
d) A reduction in the interest rate
5. Indicate the wrong statement. )
a) Cost of production is the determinant of the short-
run aggregate supply’
b) A rise in the supply of money and a rise in the
interest rate are easy monetary policies
¢) Government policy is one of the determinants of
aggregate demand

d) The real balance effect explains the downward

sloping of the aggregate demand curve
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